








There are six persons namely A, B, C, D, E and F. They are arranged in descending 

order of their age from left to right. No two persons have the same age. E is 

younger than A but elder to B. B is not the youngest. E is 25 years old. The 

difference of ages of D and E is 20 years. C is the second youngest person. 

If the sum of ages of A and E is 70 and the sum of ages of F and D is 89 years then 

what is the age of D? 

छह व्यक्ति अर्थात ्A, B, C, D, E और F हैं। उन्हें उनकी उम्र के अनसुथर बथएं से दथएं अवरोही क्रम में 

व्यवक्तथर्त क्तकयथ गयथ ह।ै क्तकसी भी दो व्यक्तियों की आय ुसमथन नहीं होती ह।ै E, A से छोटथ ह ैलेक्तकन B 

से बडथ ह।ै B सबसे छोटथ नहीं ह।ै E की उम्र 25 वर्ा ह।ै D और E की आय ुकथ अंतर 20 वर्ा ह।ै C 

दसूरथ सबसे छोटथ व्यक्ति ह।ै यक्तद A और E की आय ुकथ योग 70 ह ैऔर F और D की आय ुकथ योग 

89 वर्ा ह,ै तो D की आय ुक्तकतनी ह?ै

1. 55 years 2. 20 years 3. 15 years 4. 5 years 5. 10 years



There are six persons namely A, B, C, D, E and F. They are arranged in descending 

order of their age from left to right. No two persons have the same age. E is 

younger than A but elder to B. B is not the youngest. E is 25 years old. The 

difference of ages of D and E is 20 years. C is the second youngest person. 

If the sum of ages of A and E is 70 and the sum of ages of F and D is 89 years then 

what is the age of D? 



458 945 674 775 598 

If three is subtracted from the first digit of each of the numbers and 

then the first and the second digits are interchanged, then which of 

the following will be the 3rd lowest number?

यक्तद प्रत्येक संख्यथ के पहले अकं से तीन घटथ क्तदयथ जथए और क्तिर पहले और दसूरे 

अकं को आपस में बदल क्तदयथ जथए, तो क्तनम्न में से कौन सी तीसरी सबसे छोटी संख्यथ

होगी?

a) 458 b) 945 c) 674 d)775 e) 598



458 944 674 775 598 

If first and third digits of all numbers are multiply to each other and 

second digit add in result of multiply So what will be the 2nd 

highest number ?

यक्तद सभी संख्यथओ ंके पहले और तीसरे अकं को आपस में गणुथ क्तकयथ जथए और 

गणुथ के पररणथम में दसूरे अकं को जोडथ जथए तो दसूरी सबसे बडी संख्यथ क्यथ होगी?

a) 458 b) 945 c) 674 d)775 e) 598



TRP MBA NCP RJD YSR POT

How many consonants are there in the English alphabetical series in 

between the 3rd letter of 2nd word from the left end and 1st letter of 

the last word from the left end? 

अगं्रेजी वणामथलथ में बथए ंछोर से दसूरे शब्द के तीसरे अक्षर और बथए ंछोर से अकं्ततम 

शब्द के पहले अक्षर के बीच क्तकतने व्यंजन हैं?

a) 11 b) 12 c) 14 d) 15 e) None of these 



TRP MBA NCP RJD YSR POT 

If each letter of each of the word is arranged according to the 

alphabetical series, then after arranging those new word according 

to the dictionary order, find which is the third letter of the word, 

which is fourth from the right end? 

यक्तद प्रत्येक शब्द के प्रत्येक अक्षर को वणथानकु्रम के अनसुथर व्यवक्तथर्त क्तकयथ जथतथ

ह,ै तो उन नए शब्दों को शब्दकोश क्रम के अनसुथर व्यवक्तथर्त करने के बथद, शब्द कथ 

तीसरथ अक्षर कौन सथ ह,ै जो दथयें छोर से चौर्थ ह?ै

a) T b) P c) M d) Y e) R



In the given word ‘SPLENDOR ’, in which consonant changed into its 

previous letter and the vowel into its next letter (according to the 

alphabetical order) and then all letters are arranged in alphabetical order 

from left to right then which of the following letter is fifth from the left 

end? 

क्तदए गए शब्द 'SPLENDOR' में, क्तजसमें व्यंजन अपने क्तपछले अक्षर में और थवर अपने अगले 

अक्षर में बदल गयथ (वणथानकु्रम के अनसुथर) और क्तिर सभी अक्षरों को वणथानकु्रम में बथएं से 

दथएं व्यवक्तथर्त क्तकयथ जथतथ ह,ै तो क्तनम्न में से कौन सथ अक्षर ह ैबथएं छोर से पथंचवथं?

(a) R (b) O (c) K (d) M (e) C



In the word ‘BRISKLY’, how many pairs of the letters have the 

same number of letters between them in the word as in alphabet? 

शब्द 'BRISKLY' में अक्षरों के क्तकतने यगु्मों के बीच अक्षरों की संख्यथ उतनी ही ह ै

क्तजतनी क्तक वणामथलथ में ह?ै

(a) Four (b) Two (c) One (d) Three (e) More than four



If ’’624739854’’ 1 is added to all the even number and 1 is subtract 

from all the odd number, then what is the sum of the digits which is 

fifth from the left end and fourth from the right end? 

यक्तद ''624739854'' सभी सम संख्यथओ ंमें 1 जोडथ जथतथ है और सभी क्तवर्म 

संख्यथओ ंमें से 1 घटथयथ जथतथ ह,ै तो बथए ंछोर से पथचंवें और दथए ंछोर से चौर्े अकंों 

कथ योग क्यथ ह?ै

(a) 12 (b) 9 (c) 11 (d) 10 (e) None of these



Statements: 

A>M>R=F≥Z<X<C<V>B>N 

Conclusion: 

I: A≥Z 

II: Z<V



Statements:

Z<X≤C≤<G<H≤J   

Conclusion: 

I: Z<G 

II: X<J



Statements : 

Q≥W≥E≥R<T<Y≤U≤I      

Conclusion : 

I: Q≥T 

II: R≤I



Statements: 

A<S<D=Z<X<C 

Conclusion:

I: A<C 

II: C≥G



Statements: 

C=V>B>N>M<S<D<F<G

Conclusion:

I: B>M 

II: M<G



In a Certain code 81520 is written as 315124 ,than find the code for 

4125 ?

एक निनित कोड में 81520 का कोड 315124 निखा गया है तो 4125 का कोड क्या

होगा ?

(1) 1498720

(2) 1213140

(3) 0023256

(4) 1315190

(5) None of these



In a Certain code WINDOW is written as 193441 ,than find the code for 

JOKE ?

एक निनित कोड में WINDOW का कोड 193441 निखा गया है तो JOKE का कोड

क्या होगा ?

(1) 1400

(2) 1405

(3) 1800

(4) 1805

(5) None of these



“Never talk between others” is coded as “sm nt ro fi” 

“Others should be helpful” is coded as “ro el ac jq” 

“Never be time specific” is coded as “fi dg el pa” 

“Focus between specific hours” is coded as “hy dg nt ks”

What is the code for “Never together” in the given code language?

दी गई कूट भथर्थ में “Never Together” के क्तलए कूट क्यथ ह?ै

(a)nt ro (b)ro fi (c)fi uy (d)jq nt (e) dg nt



Statements:

Some keys are doors

All keys are locks

All doors are rooms

No room is a hotel

Conclusions:

(I) All hotels being locks is a possibility

(II) No lock is a door

(III) No hotel is a door

(IV) At least some keys are rooms

कर्न: 

कुछ चथक्तबयथं दरवथजे हैं

सभी चथक्तबयथं तथले हैं 

सभी दरवथजे कमरे हैं 

कोई कमरथ होटल नहीं ह ै

क्तनष्कर्ा: 

सभी होटलों के तथले होने की संभथवनथ है

कोई तथलथ दरवथजथ नहीं है

कोई होटल दरवथजथ नहीं ह ै

कम से कम कुछ चथक्तबयथं कमरे हैं



Statements:

Some keys are doors

All keys are locks

All doors are rooms

No room is a hotel

Conclusions:

(I) All hotels being locks is a possibility

(II) No lock is a door

(III) No hotel is a door

(IV) At least some keys are rooms



Statements:

No mobile is pencil

All pens are mobiles

All cars are pencils

All pencils are bikes

Conclusions:

(I) No pen is a car

(II) All pens being bikes is a possibility

(III) All cars are bikes

(IV) All bikes are mobiles

कर्न: 

कोई मोबथइल पेंक्तसल नहीं ह ै

सभी पेन मोबथइल हैं 

सभी कथर पेंक्तसल हैं 

सभी पेंक्तसल बथइक हैं 

क्तनष्कर्ा: 

कोई पेन कथर नहीं ह ै

सभी पेन के बथइक होने की संभथवनथ ह ै

सभी कथर बथइक हैं

सभी बथइक मोबथइल हैं



Statements:

No mobile is pencil

All pens are mobiles

All cars are pencils

All pencils are bikes

Conclusions:

(I) No pen is a car

(II) All pens being bikes is a possibility

(III) All cars are bikes

(IV) All bikes are mobiles



Statements:

Some bikes are cars.

Some cars are traffics.

All traffics are signals.

Some signals are roads.

Conclusions:

I.  Some signals are cars.

II. Some traffics are roads.

III. Some signals are bikes.

IV. Some roads are cars.

कर्न: 

कुछ बथइक कथर हैं। 

कुछ कथर टै्रक्तिक हैं। 

सभी टै्रक्तिक क्तसग्नल हैं। 

कुछ क्तसग्नल सडकें  हैं। 

क्तनष्कर्ा: 

कुछ क्तसग्नल कथर हैं। 

कुछ टै्रक्तिक रोड हैं. 

कुछ क्तसग्नल बथइक हैं। 

कुछ सडकें  कथर हैं।



Statements:

Some bikes are cars.

Some cars are traffics.

All traffics are signals.

Some signals are roads.

Conclusions:

I.  Some signals are cars.

II. Some traffics are roads.

III. Some signals are bikes.

IV. Some roads are cars.



In the family of 10 persons A, B, C, D E, F, G, H, I and J. There are four 

generation in the family. Only married couple has children. H is brother of 

F’s father. C is sister in law of J who is son of G. J is married to I, who has 

only one sister. E is mother of F who is spouse G. F is grand father of D 

who is brother of B. G has only one grandson.

10 व्यक्तियों A, B, C, D E, F, G, H, I और J के पररवथर में पररवथर में चथर पीक्त़ियथाँ हैं। 

केवल क्तववथक्तहत जोडे के ही बच्चे होते हैं। H, F के क्तपतथ कथ भथई ह।ै C, J की क्तसथटर इन लॉ 

ह,ै जो G कथ पतु्र ह।ै J, I से क्तववथक्तहत ह,ै क्तजसकी केवल एक बहन ह।ै E, F की मथाँ ह ैजो G की 

पत्नी ह।ै F, D कथ दथदथ ह ैजो B कथ भथई ह।ै G कथ केवल एक पोतथ ह।ै



In the family of 10 persons A, B, 

C, D E, F, G, H, I and J. There are 

four generation in the family. Only 

married couple has children. H is 

brother of F’s father. C is sister in 

law of J who is son of G. J is 

married to I, who has only one 

sister. E is mother of F who is 

spouse G. F is grand father of D 

who is brother of B. G has only 

one grandson.



Ten Persons L, M, N, O, P, Q, R, S, T and U 

were born (but not necessarily in the same 

order) on either 9th or 30th of five different 

months- January, May, August, October and 

December. Three persons were born between 

M and Q and they born on same date. Two 

persons were born between M and R, who was 

born in either May or December. The number 

of persons were born between R and Q is 

same as the number of persons were born 

between N and T. T was born in October. S 

was born just after L, who was born after R. P 

was born just before the given month when O 

was born. U was born before T. M was born 

after R. L and S were not born in the same 

month. O was born after M. 

दस व्यक्तियों L, M, N, O, P, Q, R, S, T और U कथ

जन्म पथंच अलग-अलग महीनों- जनवरी, मई, अगथत, 

अक्टूबर और 9 यथ 30 तथरीख को हुआ र्थ (लेक्तकन जरूरी 

नहीं क्तक इसी क्रम में हो)। क्तदसंबर। M और Q के बीच तीन 

व्यक्तियों कथ जन्म हुआ र्थ और उनकथ जन्म एक ही तथरीख 

को हुआ र्थ। M और R के बीच दो व्यक्तियों कथ जन्म हुआ 

र्थ, क्तजसकथ जन्म यथ तो मई यथ क्तदसंबर में हुआ र्थ। R और 

Q के बीच पैदथ हुए व्यक्तियों की संख्यथ N और T के बीच 

पैदथ हुए व्यक्तियों की संख्यथ के समथन ह।ै T कथ जन्म 

अक्टूबर में हुआ र्थ। S कथ जन्म L के ठीक बथद हुआ र्थ, 

क्तजसकथ जन्म R के बथद हुआ र्थ। P कथ जन्म क्तदए गए महीने 

से ठीक पहले हुआ र्थ जब O कथ जन्म हुआ र्थ। U कथ 

जन्म T से पहले हुआ र्थ। M कथ जन्म R के बथद हुआ र्थ। 

L और S कथ जन्म एक ही महीने में नहीं हुआ र्थ। O कथ 

जन्म M के बथद हुआ र्थ। 



Ten Persons L, M, N, O, P, Q, R, S, T and U 

were born (but not necessarily in the same 

order) on either 9th or 30th of five different 

months- January, May, August, October and 

December. Three persons were born between 

M and Q and they born on same date. Two 

persons were born between M and R, who was 

born in either May or December. The number 

of persons were born between R and Q is 

same as the number of persons were born 

between N and T. T was born in October. S 

was born just after L, who was born after R. P 

was born just before the given month when O 

was born. U was born before T. M was born 

after R. L and S were not born in the same 

month. O was born after M. 



Six persons A, B, C, D, E and F live in a three-storey

building such that ground floor is numbered as 1, 

above it is floor 2 then topmost floor is numbered as 3. 

Each of the floor has 2 flats in it as flat-1 and flat-2. 

Flat-1 of floor-2 is immediately above flat-1 of floor-1 

and immediately below flat-1 of floor-3 and so on. In 

the same way flat-2 of floor-2 is immediately above 

flat-2 of floor-1 and immediately below flat-2 of floor-

3 and so on. Flat1 is in west of flat-2. Each of them 

likes different fruits. One floor gap between C and the 

one who likes Grapes in the same flat number. A lives 

on an even number floor in the north west of C. The 

one who likes apricot lives below A. The one who 

likes banana lives above C and in the south-east of D, 

who does not like Apple. F likes Apricot. D and A not 

like orange. E lives below B. One of the persons like 

coconut . C and Grapes lives in the same flat.

छह व्यक्ति A, B, C, D, E और F एक तीन मंक्तजलथ इमथरत में इस 

प्रकथर रहते हैं क्तक भतूल की संख्यथ 1 ह,ै इसके ऊपर की मंक्तजल की 

संख्यथ 2 ह ैक्तिर सबसे ऊपर की मंक्तजल की संख्यथ 3 ह।ै प्रत्येक 

मंक्तजल में 2 फ्लैट हैं यह फ्लैट-1 और फ्लटै-2 के रूप में ह।ै तल-2 

कथ फ्लैट-1, तल-1 के फ्लैट-1 के ठीक ऊपर ह ैऔर तल-3 के 

फ्लैट-1 के ठीक नीचे ह ैऔर इसी प्रकथर आगे भी। इसी प्रकथर तल-

2 कथ फ्लैट-2, तल-1 के फ्लैट-2 के ठीक ऊपर और तल-3 के 

फ्लैट-2 के ठीक नीचे ह ैऔर इसी तरह। फ्लैट 1, फ्लैट-2 के पक्तिम 

में ह।ै उनमें से प्रत्येक को अलग-अलग िल पसंद हैं। समथन फ्लैट 

संख्यथ में C और अंगरू पसंद करने वथले के बीच एक मंक्तजल कथ 

अंतर ह।ै A, C के उत्तर पक्तिम में एक सम संख्यथ वथली मंक्तजल पर 

रहतथ ह।ै वह व्यक्ति क्तजसे खबुथनी पसंद ह ैवह A के नीचे रहतथ ह।ै 

वह व्यक्ति क्तजसे केलथ पसंद ह ैवह C के ऊपर और D के दक्तक्षण-

पूवा में रहतथ ह,ै क्तजसे सेब पसंद नहीं ह।ै F को खबुथनी पसंद ह।ै D 

और A को संतरथ पसंद नहीं ह।ै E, B के नीचे रहतथ ह।ै व्यक्तियों में 

से एक को नथररयल पसंद है , C और अंगरू एक ही फ्लैट में रहते हैं।



Six persons A, B, C, D, E and F live in a three-storey

building such that ground floor is numbered as 1, 

above it is floor 2 then topmost floor is numbered as 3. 

Each of the floor has 2 flats in it as flat-1 and flat-2. 

Flat-1 of floor-2 is immediately above flat-1 of floor-1 

and immediately below flat-1 of floor-3 and so on. In 

the same way flat-2 of floor-2 is immediately above 

flat-2 of floor-1 and immediately below flat-2 of floor-

3 and so on. Flat1 is in west of flat-2. Each of them 

likes different fruits. One floor gap between C and the 

one who likes Grapes in the same flat number. A lives 

on an even number floor in the north west of C. The 

one who likes apricot lives below A. The one who 

likes banana lives above C and in the south-east of D, 

who does not like Apple. F likes Apricot. D and A not 

like orange. E lives below B. One of the persons like 

coconut. C and Grapes lives in the same flat.



Eight persons A, B, C, D, E, F, G and H are sitting in a horizontal row. Four of them 

are facing north while the rest are facing south. G is the third person from one of the 

extreme ends. Two people sitting at extreme ends face in the same direction. Three 

people sit between B and C. Neighbours of D face in the same direction but opposite 

to D. Neither C nor D sit at the extreme end. E sits to the left of H, who sits adjacent 

to neither A nor F. B sits adjacent to G and faces south. E does not sit adjacent to F. A 

and F are second to the left of each other.

आठ व्यक्ति A, B, C, D, E, F, G और H एक कै्षक्ततज पंक्ति में बैठे हैं। उनमें से चथर कथ मखु उत्तर की 

ओर ह ैजबक्तक शेर् कथ मखु दक्तक्षण की ओर ह।ै G क्तकसी एक अंक्ततम छोर से तीसरथ व्यक्ति ह।ै अंक्ततम छोर 

पर बैठे दो व्यक्तियों कथ मखु समथन क्तदशथ की ओर ह।ै B और C के मध्य तीन व्यक्ति बैठे हैं। D के पडोक्तसयों 

कथ मखु समथन क्तदशथ में ह ैलेक्तकन D के क्तवपरीत ह।ै न तो C न ही D अंक्ततम छोर पर बैठे हैं। E, H के बथयें 

बैठथ ह,ै जो न तो A और न ही F के आसन्न बैठथ ह।ै B, G के क्तनकट बैठथ ह ैऔर उसकथ मखु दक्तक्षण की 

ओर ह।ै E, F के आस-पथस नहीं बैठथ ह।ै A और F एक दसूरे के बथयें से दसूरे थर्थन पर हैं



Eight persons A, B, C, D, E, F, G and H are sitting in a horizontal row. Four of them 

are facing north while the rest are facing south. G is the third person from one of the 

extreme ends. Two people sitting at extreme ends face in the same direction. Three 

people sit between B and C. Neighbours of D face in the same direction but opposite 

to D. Neither C nor D sit at the extreme end. E sits to the left of H, who sits adjacent 

to neither A nor F. B sits adjacent to G and faces south. E does not sit adjacent to F. A 

and F are second to the left of each other.



Eight persons F, G, H, I, J, K, L and M attend 

seminar on four different months January, 

April, November and December of the same 

year but not necessarily in the same order. 

Seminar was held on either 15th or 25th of the 

month. G attends seminar on 15th of the 

month which has only 30 days. M and J 

attends the seminar in the same month before 

G, but not in April. M attends the seminar 

after J. No one attends the seminar after F. 

Only one person attends the seminar between 

M and K. Both H and L attend the seminar on 

15th of different months. L does not attend the 

seminar in December. L and I attend the 

seminar in the same month.

आठ व्यक्ति F, G, H, I, J, K, L और M एक ही वर्ा के 

चथर अलग-अलग महीनों जनवरी, अपै्रल, नवंबर और 

क्तदसंबर में सेक्तमनथर में भथग लेते हैं लेक्तकन जरूरी नहीं क्तक

इसी क्रम में हों। संगोष्ठी महीने की 15 यथ 25 तथरीख को 

आयोक्तजत की गई र्ी। G महीने की 15 तथरीख को सेक्तमनथर 

में भथग लेतथ ह ैक्तजसमें केवल 30 क्तदन होते हैं। M और J, 

G से पहले समथन महीने में सेक्तमनथर में भथग लेते हैं, लेक्तकन 

अपै्रल में नहीं। M, J के बथद सेक्तमनथर में भथग लेतथ ह।ै F के

बथद कोई भी सेक्तमनथर में भथग नहीं लेतथ ह।ै M और K के 

बीच केवल एक व्यक्ति सेक्तमनथर में भथग लेतथ ह।ै H और L 

दोनों अलग-अलग महीनों की 15 तथरीख को सेक्तमनथर में 

भथग लेते हैं। L क्तदसंबर में सेक्तमनथर में भथग नहीं लेतथ ह।ै L 

और मैं एक ही महीने में सेक्तमनथर में भथग लेते हैं।



Eight persons F, G, H, I, J, K, L and M attend 

seminar on four different months January, 

April, November and December of the same 

year but not necessarily in the same order. 

Seminar was held on either 15th or 25th of the 

month. G attends seminar on 15th of the 

month which has only 30 days. M and J 

attends the seminar in the same month before 

G, but not in April. M attends the seminar 

after J. No one attends the seminar after F. 

Only one person attends the seminar between 

M and K. Both H and L attend the seminar on 

15th of different months. L does not attend the 

seminar in December. L and I attend the 

seminar in the same month.


